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2. ��ก��	ก
���	ก
����ก�� 
 2.1 ��	������
������
��	����
ก
��� !"
��# 
  �
���
$���%�!�&'���()
�*$�+���������, -$�.��!��)� ��/0ก����&-��ก���)��������1���*(�
-$�.�&'��)�������()
�*$�+                   
������	ก��� �)�����2ก3��14
$� ��	ก��-$�.�)�����2ก3��14
$�%�&����5��	��)��ก����ก2��*����������%�*�����������*��
��!�
	0������(�
&6 2528 ��	�9�+ก������*��
+9���!5:ก��ก��-$�.2ก3��14
$��*(�
%�!�&'�*$�++����2�� ��	-$�.�
���
$��ก

!
	 �$�+��ก��)�ก��ก��ก��.(��.����)+��ก;�9��<2$��
ก���=!�������*�>��2$�����&���
�ก���9�(�
+	�.� 2.�	�+����ก��ก��%�!ก��

	��+2*���$�	 ��ก�����+��9��)�����%�.$���$ก�*����0+=:)�
	��+��ก%�&6 2546 ��<��$�:+��!�����-$�ก���ก��-$�.2$�ก��%�!
2ก3��14
$�
	��+���+��+ ���/:+��+�����ก��-$�.�
���
$�*(�
����&-$�.�)�����2ก3��14
$� ��)+��) ก$A��-0!/(
�A!�����=
+������, ��!
�$�+����/:+�
ก��%�ก���.���.=
+BA�ก��-$�.2$��������	�
���
$���%�!�&'���()
�*$�+ �:+��!�������	�ก�
.�)+������ ��	 
��ก� 
�
����
��	�� ���ก�� (�����) ��(�
������ 25 .A$�9� 2544 �!�	�A��������	������2�ก 10 $!����� �*(�
�������BA�ก��-$�.2$�
�������	�
���
$�*(�
%�!�&'���()
�*$�+ ��	������, ��!���
�AD�.%�!���.�)+��++��-$�.�
���
$�*(�
%�!�&'���()
�*$�+��ก
9E�ก���ก���
���
$2��+��.�-����.�9E�ก���ก����	��	*$�++��2��+��.� 9��)+��� 2/2545 ��(�
������ 8 ก�กG�9� 2545
.�
����(�
������ 18 ��/A��	� 2546 ������ $������1
����1� ���ก�� (�����) (HLANNAL) ��!�=!���1()
�A!�����D�*����A�=
+
������, �����%�! LANNA �&'�-0!/(
�A!�%�D�=
+������, ��	/(
�A!�%���������!
	$� 75 =
+�������A!�����������	��!2$!���)+��� 
������, �:+���/����&'�������	�
	=
+ LANNA ��	������, ��!���%�
�AD�.�&'�-0!9!��)�����.����.�� 10 =
+*�������DD�.�
ก��9!��)�������()
�*$�+ *.5. 2543 ��(�
������ 29 ����	� 2548 1��+/(
�&'�-0!-$�.�
���
$��	2�ก�����!���%�
�AD�.��+ก$��� 2$�
��(�
������ 18 .A$�9� 2550 ������, ��!���ก��2&��;�*�&'���������������ก�� *�!
���)+�&$��	��(�
������, �&'� ������ ��	 
�
�ก� �
����
��	�� ���ก�� (�����)  
  *�>��ก��������9�D=
+������, %����+��	���$����-����� ����	$��
�	���+.�
�&��) 
 
�$ 2546 
� ������, �*����A��������	������� 255 $!����� ��ก�A��������	����� 10 $!����� �&'� 265 $!����� ��	ก��

ก

�A!�����D%��������� 25.50 $!���A!� �0$9�����.����!�A!�$� 10 ��� ���
=�	.�
-0!/(
�A!����� �*(�
����+���&%�!%�ก��
=	�	BA�ก��2$��&'��+���A���A����	� 
%�ก���*����A�9��)+��) LANNA ��!�=!���$+�A�1()
�A!��*����A���+ก$��������� 19,875,000 �A!� ���%�! LANNA ���������
ก��/(
�A!�%�������, 9���&'��!
	$� 75 =
+�������A!�����������	��!2$!���)+��� 2$����%�!������, ���/����&'�������
	�
	=
+ LANNA  

� ������, ��!���%�
�AD�.&��ก
�BA�ก����++��-$�.2$��������	�
���
$ ��กก����++��
A.���ก��� ��(�
������ 22 
ก��	�	� 2546 

� ������, ��!�����.���+�����ก��$+�A��������ก��-$�.�
���
$ ��	ก��-$�.��� 1 ��ก9E�ก���ก����+�����ก��$+�A� 
(BOI) ��(�
������ 26 B����9� 2546 

�$ 2547 
� ก��ก�
��!�+��++��-$�.�
���
$��กก�ก�)��.�$ (��	ก��-$�.��� 1) ��������0�E�  
�$ 2548 
� ������, �����-$�.2$��������	�
���
$��ก��	ก��-$�.��� 1 �&'�9��)+2�ก ��(�
������ 31 �ก��9� 2548 
� ������, ��!���
�AD�.�&'�-0!9!��)����� .����.�� 10 2��+*�������DD�.�ก��9!��)�������()
�*$�+ *.5. 2543 %�ก��

�������	�
���
$�*(�
%�!�&'���()
�*$�+ ��กก��BA�ก��*$�++�� 
�$ 2549 
� LANNA 1()
�A!�����D=
+������, ��ก-0!/(
�A!����������� 200,000 �A!� ���%�!�������A!����/(
%�������, �*���=:)���ก 

19,875,000 �A!� �&'� 20,075,000 �A!� 9���&'���������!
	$� 75.75 =
+�������A!�����������	��!2$!���)+���  
� ������, �����%�!ก3�1���;�*��ก��
-$�.��� 1 1:�+%�!��9���$	�2�� Anaerobic Baffled Reactor (ABR) ��(�
��(
�



 ������ ��	 
��ก� �
����
��	�� ���ก�� (�����)                            
  

������� 2 ��!� 14 
 

�ก��9� 2549 
� ������, ��!���
�AD�.��กก�����*����.%�!-$�.2$��������	�
���
$�����9�������A�B�a=
+2
$ก
4
$�����!
	ก��� 

99.5% �*(�
�������	%�!2ก�-0!9!��)�������	.�+������)� ��	��=���ก��$�+ก��-$�. 150,000 $�.�.�
��� ��(�
������ 31 
����9� 2549 

� ������, �*����A��������	������� 106 $!����� ��ก�A��������	����� 265 $!����� �&'� 371 $!����� ��	ก��


ก�A!�����D%��������� 10.60 $!���A!� �0$9�����.����!�A!�$� 10 ��� ���
=�	%�!2ก�-0!/(
�A!����� �*(�
����+���&%�!%�
ก��=	�	BA�ก��2$��&'��+���A���A����	� 

�$ 2550 
� ������, �*����A��������	������� 79.50 $!����� ��ก�A��������	����� 371 $!����� �&'� 450.50 $!����� ��	

ก��

ก�A!�����D%��������� 7.95 $!���A!� �0$9�����.����!�A!�$� 10 ��� ���
=�	%�!2ก�-0!/(
�A!����� �*(�
����+���&%�!
%�ก��=	�	BA�ก��2$��&'��+���A���A����	� 

� ������, �*����A��������	������� 149.50 $!����� ��ก�A��������	����� 150.50450.50 $!����� �&'� 600 $!��
��� ��	ก��

ก�A!�����D%��������� 14.95 $!���A!� �0$9�����.����!�A!�$� 10 ��� ���
=�	%�!2ก�-0!/(
�A!����� �*(�

����+���&%�!%�ก��=	�	BA�ก��2$��&'��+���A���A����	� 

� ��(�
������ 18 .A$�9� 2550 ������, ��!�������ก��2&��;�*�&'���������������ก�� 2$��&$��	��(�
������, �&'� ������ 
��	 
��ก� �
����
��	�� ���ก�� (�����) 2$��������	��&$��	�2&$+�0$9�����.����!��ก�����A!��$� 10 ��� �&'��A!�$� 
1 ��� 

� ������, ��!���
�AD�.��กก�����*����.%�!�����/��+�
���
$

ก�
ก���
�E���ก���! ��(�
������ 25 B����9� 
2550 

�$ 2551 
� ������, ��!�����.���+�����ก��$+�A��������ก��-$�.�
���
$ ��	ก��-$�.��� 2  ��ก9E�ก���ก����+�����ก��$+�A� 

(BOI) ��(�
������ 19 *c5��ก�	� 2551 
�$ 2552 
� ��(�
������ 30 ��/A��	� 2552 ������, ��!��� ISO 9001:2008 2$� ISO 14001:2004 ��ก�/���� UKAS &����5


�+กc� 2$� NAC &����5��	 1:�+����
+��	 SGS (&����5��	)  
�$ 2553 
� ������, ������������ก��ก�
��!�+��++��-$�.�
���
$��ก������&��$�+ (��	ก��-$�.��� 2) �*(�
=	�	ก��$�+ก��-$�.

�*����.��
�ก 200,000 $�.�.�
��� ��(
 66.00 $!��$�.�.�
&6 (������������%�!%�ก��-$�.����ก�� 330 ���.�
&6)  
�$ 2554 
� ������, ��������
�ก�������9�(�
+��ก�-$�.�
���
$��ก������&��$�+=
+��	ก��-$�.��� 2 %����+��(
��ก��9� 2554 
� ������, �����%�!ก3�1���;�*��ก��
-$�.��� 2 1:�+%�!��9���$	�2�� Upflow Anaerobic Sludge Blanket (UASB) ��(�


��(
�*c�;�9� 2554 
� ������, �*����A��������	������� 200 $!����� ��ก�A��������	����� 600 $!����� �&'� 800 $!����� ��	ก��



ก�A!�����D�*���%��������� 200 $!���A!� �0$9�����.����!�A!�$� 1 ��� ���
=�	%�!2ก�-0!/(
�A!����� �*(�
����+���&%�!%�
ก��=	�	BA�ก��2$��&'��+���A���A����	� 

� ������, ��!���
�AD�.��กก�����*����.%�!=	�	ก��$�+ก��-$�.�
���
$�*(�
%�!�&'���()
�*$�+��ก 150,000 $�.�.�
��� 
�&'� 350,000 $�.�.�
��� ��(�
������ 22 ก�กG�9� 2554 

� ������, �������ก��&���&�A+��	ก��-$�.��� 2 %�!�����/-$�.�
���
$��กก�ก�)��.�$ %��.������� 3 &6 25545  
�$ 2555 
� ������, �����%�!ก3�1���;�*��ก��
-$�.��� 3 1:�+%�!��9���$	�2�� Modified Covered Lagoon (MCL) ��(�
��(
�����9� 

2555 
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� ������, �����/-$�.2$��������	�
���
$��	%�!ก�ก�)��.�$��ก��	ก��-$�.��� 2 �&'�9��)+2�ก ��(�
������ 2 ����	� 2555 
�$ 2556 
� ��(�
��(
�ก��	�	� 2556 ������, ��!�������ก���������	��*����A��������	������� 200 $!����� ��ก���� 800 $!��

��� �&'� 1,000 $!����� �0$9�����.����!�A!�$� 1 ��� �
ก��ก��) LANNA 1:�+�&'�-0!/(
�A!�%�D�=
+������, ��	�.����
&���A�������D-0!/(
�A!�9��)+��� 1/2556 ��(�
������ 18 ก��	�	� 2556 ��!���.�%�!���
=�	�A!�=
+������, ��� LANNA /(


	0������� 96,037,733 �A!� %�ก�����
=�	�A!�����D.�
&������%�9��)+��)�!�	 ��)+��) ��	$��
�	�ก���������A!�
�����/��A&��!��+��) 
- �A!�����D%����*����A������� 94,962,267 �A!� ���ก���A!�����D������� LANNA /(

	0������� 96,037,733 �A!� ���
 �&'��������A!���)+��)� 191,000,000 �A!� �����
=�	%�!2ก�&������ (Initial Public Offering)  
- �A!�����D%����*����A������� 105,037,733 �A!� �����
=�	%�!2ก�-0!/(
�A!�=
+ LANNA .���������ก��/(
�A!�%� 
 LANNA %���9����	�ก��ก����9����
=�	�A!�����D%�!2ก�&������ 
%�ก�E�������A!���$(
��กก���
+1()
=
+-0!/(
�A!� LANNA %�!���
=�	�A!������$(
��+ก$���%�!2ก�&������.�
�& 

 
 2.2 -
����ก
���	ก
����ก�� 

������ ��	 
��ก� �
����
��	�� ���ก�� (�����) &��ก
�BA�ก��-$�.2$��������	�
���
$�����9�������A�B�a 99.5% 
��	&����.� �*(�
%�!�&'���()
�*$�+ ��)+��) �
���
$���0.����$กA$ C2H5OH ���A���(
�&����E 78 
+5��1$�1�	� 9AE����.�
��	�����&�&'�=
+��$�%� ������� .���t+��	 �&'���()
�*$�+�����9��

ก����0+ ��	������, �������	�
���
$2&$+�;�*%�!ก��
������-0!9!��)�����.����.�� 7 =
+*�������DD�.�ก��9!��)�������()
�*$�+ *.5. 2543 �*(�
����&-��ก���)��������1��%�
�.��
����-���!
	$� 10 �!
	$� 20 2$��!
	$� 85 ��!�&'��)�����2ก3��14
$� E10 �)�����2ก3��14
$� E20 2$��)�����2ก3��14
$� E85 
.��$����� �������%�!�&'���()
�*$�+%��/	�.��*(�
��2��ก��%�!�)��������1�� 1:�+�����	$�ก������=!��)�������()
�*$�+2$����&�A+
2.�+1:�+%�!�*���9��

ก���%��)��������1��������	ก���  MTBE (Methyl Tertiary Butyl Ether) 2$�$��$*����+
�ก�5 1:�+����+-$
��.�
���+2��$!
� 
  &y��A��� ������, ����++��-$�.�
���
$ ��	%�!��9�$	�=
+ MAGUIN INTERIS &����5z���+�5� 1:�+��ก��$�+ก��
-$�..��.�)+��� 365,000 $�.�.�
��� ��(
 120.75 $!��$�.�.�
&6 (9����E��ก������������%�!%�ก��-$�.����ก�� 330 ���.�
&6) ��)+��) 
��	ก��-$�.�
���
$=
+������, 2��+�&'� 2 ��	ก��-$�. ��	����	$��
�	���+��) 
 

 
!
.ก
�/�����  1 !
.ก
�/�����  2 

��./A������%�!%�ก��-$�.�
���
$ ก�ก�)��.�$ ก�ก�)��.�$��(
������&��$�+* 
ก��$�+ก��-$�..��.�)+ 165,000 $�.�.�
��� 200,000 $�.�.�
��� 
�����������ก��-$�.9��)+2�ก 31 �ก��9� 2548 2 ����	� 2555 
���	��.A  : &y��A��� ��	ก��-$�.��� 2 �����/-$�.�
���
$��	%�!ก�ก�)��.�$�&'���./A���������)� ��	������, 
	0�������+ก��&���&�A+
  �9�(�
+��ก�=
+��	ก��-$�.��� 2 %�!�����/-$�.�
���
$��	%�!�����!��&'���./A�����! 2$�9�����ก��&���&�A+��+ก$�����2$!� 
  �����;�	%��.������� 2 &6 2557 
	��+��ก�.�� &y���	%�ก��*����E��$(
ก%�!��./A���%�ก��-$�.�
���
$=
+��	ก��-$�.��� 2 
  ��)� ��=:)�
	0�ก��.!��A�ก��-$�.2$�2-�ก��-$�.=
+������, �&'��$�ก  
 

��)+��) ��++��-$�.�
���
$=
+������, ��!���ก����+�����ก��$+�A���ก9E�ก���ก����+�����ก��$+�A�.����.���+�����
ก��$+�A��$=��� 1760(2)/2546 $+������ 26 B����9� 2546 ���������	ก��-$�.��� 1 2$��$=��� 2078(9)/2551 $+������ 19 *c5��ก�	� 
2551 ���������	ก��-$�.��� 2 ��	��.���+�����ก��$+�A������B�&���	����!��;���2$��+(�
��=������9�D ��+��) 

1.  ��!���	ก��!�;����+����!��.��A99$�������ก���������!��กก��&��ก
�ก��ก�������!���ก����+����� 2$���!���	ก��!����.!
+
����+��&y�-$��กก��ก�������!���ก����+�����1:�+��!���ก��	ก��!�;����+����!��.��A99$�&���9����E�*(�
���	;����+��
�&'���	���$� 8 &6���2.����������������	��! ���������	ก��-$�.��� 1 ��)� ���B�&���	�����+;�����+ก$�����!���
�	A
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�&2$!���(�
������ 30 �ก��9� 2556 2$����������	ก��-$�.��� 2 ��)� ���B�&���	�����+;�����+ก$��������
�	A
%������� 1 ����	� 2563 

2.  ��!���
�AD�.%�!���-$=���A�&�����&6����ก��=:)�%�������+��!���ก��	ก��!�;����+����!�&��ก

ก��กก�����A�B����
�ก��=:)�;�	�$�+��	���$���!���	ก��!�;����+����!��.��A99$ �&'���	���$� 5 &6 ���2.����*!�ก�������$������!���
	ก��!�;���.�� 1. 

3.  ��!���	ก��!�
�ก�=��=!����������./A���2$�����A����&'����.!
+����=!�����ก.��+&����5�*(�
%�!%�ก��-$�.�*(�
��+

ก
�&'���	���$� 1 &6 ���2.�����������=!�9��)+2�ก 

4. ��!���	ก��!�
�ก�=��=!���������9�(�
+��ก�.�����9E�ก���ก��*����E�
�A��.� 
 

 2.3 0��1!�2
1�
.342 
 

��	�-�5
1�
.342 �$ 2553 �$ 2554 �$ 2555 �.�. 6 ��... �$ 2556 
�2
��
� �2
.�	 �2
��
� �2
.�	 �2
��
� �2
.�	 �2
��
� �2
.�	 

��	��!��กก��=�	         
- ��	��!��กก��=�	�
���
$2&$+
�;�*1) 

760.20 99.97 1,023.31 93.13 1,330.43 98.49 1,650.81 
802.03 

99.46 
98.94 

- ��	��!��กก��=�	��./A���2$�
-$-$�.��+ก���ก�.�2) 

0.03 0.00 74.90 6.82 19.43 1.44 8.24 0.50 
1.02 

����
.342�
กก
�5
. 760.23 99.97 1,098.21 99.95 1,349.86 99.93 1,659.05
810.27 

99.96 
99.95 

��	��!
(��3)2) 0.21 0.03 0.60 0.05 1.01 0.07 0.700.39 0.040.05 
����
.342��91:�4 760.44 100.00 1,098.81 100.00 1,350.87 100.00 1,659.75

810.66 
100.00 

���	��.A : 1) ��	��!��กก��=�	�
���
$2&$+�;�* �&'���	��!����ก����กก��=�	�
���
$%�������� 99.5% ���ก��ก��=�	�)��������1��/
�)�����2ก3��14
$�%�������� 0.5% .��=!
ก�����=
+ก�����*����.%�ก���������	�
���
$�������%�!�&'���()
�*$�+ 

  2) ��	��!��กก��=�	��./A���2$�-$-$�.��+ก���ก�.� ��!2ก� �����!� ������&��$�+�� 
!
	 2$�ก�ก�)��.�$  
  3) ��	��!
(�� &��ก
��!�	 ��	��!��กก��=�	t0�1$

	$� (Fusel Oil) ��	��!��กก��=�	������*	� 2$��
ก���)	��� �&'�.!� 
 
 2.4 ��;
:�
.ก
�4"
�������ก��  

���&���A�9E�ก���ก��������, 9��)+��� 1/2552 ��(�
������ 22 �ก��9� 2552 ��!���.�ก���������	��5�� (Vision) *��Bก��
(Mission) 2$���	��	ก��������=
+������, �*(�
%�!�&'�2����+%�ก����+2-�ก���������BA�ก��=
+������, ��!��+��) 

��!�.��<�= 
>����/?2�"
@�ก
�����
���11
��4�����A 
!� 1��4�2
��� 4���	!�1���� �����-
�B 

����ก�� 
������, �A�+���������-$�.2$���+�����ก��%�!�
���
$�&'�*$�++����2����	ก�������(
ก������	+����<

�/����ก��5:ก��2$��
ก��%�!�ก���0�E�ก��%�ก��*�>��ก��%�!�
���
$�&'���()
�*$�+;�	%.!ก�����������ก������&'�B����;�
��$�*(�
&���	���.�

+9�ก�-0!/(
�A!�*��B��.�BA�ก��2$�-0!��������!���	%���+9� 

�0.�
.���-
� 
������, �A�+���������-$�.2$��������	�
���
$�*(�
�&'���()
�*$�+�����9AE;�*/0ก.!
+.����.�<�� 2$��A�+��!�+9���

����%�2$�9���*:+*
%�%�-$�.;�E��2$����ก��2ก�90�9!��!�	�$�ก&����.� 3 &��ก����+��) 
(1) *�>��2$�&���&�A+ก�����ก��-$�.
	��+.�
��(�
+ 

Update =!
�0$&6 2556 
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(2) .����
�9AE;�*=
+��./A��� ����9�� 2$��)�����%�! .$
���9AE;�*=
+-$�.;�E��������+-$�.�Aก=�)�.
�
.����.�<�� ISO 9001/2008 

(3) ��!�+��.����:ก2$�ก��%��%�%�ก��.
���
+9���.!
+ก��=
+$0ก9!��!�	9������-���
� ������� 2$����+%� 

�0.�
.��
����/�4C
��
1!�1�� (Corporate Social Responsibility: CSR) 
������, �A�+����������+��2$��������BA�ก����	9���:+/:+9������-���
�.�
��+9�2$�-0!��������!�������	 ��!2ก� -0!/(
�A!� 

$0ก9!� 90�9!� *��ก+�� �A��� 2$���+9��
�=!�+ ��	ก�����2����+&����.�.�
-0!��������!�������	.���$�กก��ก��ก���02$ก��ก�����
�� �����)+�E�+9�2$��������!�+ก��&$0ก��.����:ก%�!*��ก+����!����������%�ก��&����.�ก��ก���.��+� .�
�A��� �*(�
*�>��
9AE;�*����.=
+*��ก+���A���2$���+9��
�=!�+
	��+	��+	(� ��	ก�������	��	2$�2����+ก��&����.���! 4 �!�� ��+��) 

(1) �!�����+2��$!
� 
������, ����.����+�����&��ก
�ก��ก���!�	9������-���
�.�
���+2��$!
��!�	�$�กก�� ��+��) 
- .��.��2$�&����.�.��กG���	2$�=!
��+9������ก��	�=!
+ก�����+2��$!
� 
- *�>��2$�&���&�A+ก�����ก��-$�.2$�����ก�����ก��=
+���	��ก��++���*(�
ก������$;��������

-$ก����.�
���+2��$!
��0���.�<�� ISO14000 
- ��!�+��.����:ก2ก�*��ก+���Aก�����%�9������-���
�.�
ก����ก�����+2��$!
���)+;�	%���++��2$�

;�	�
ก��++�� 
- ������2-�&����.�ก���������ก��2$�.��.��&������-$
	��+.�
��(�
+ 
- &���&�A+�����E;�	%�2$��
���++���0���++�����=�	� (Green Plant) 

(2) �!��9���&$
�;�	2$����
����	 
9���&$
�;�	2$����
����	%�ก��&����.���!����=
+*��ก+���&'�9������-���
�*()�<��=
+������, 2$�
�&'�&y���	���9�D.�
9����������2$�����D�.���.=
+
+9�ก� ������, �:+��!ก�������	��	2$��$�กก��&����.�
��! ��+��) 
- &����.�.��กG���	2$�=!
��+9������ก��	�=!
+ก��9���&$
�;�	2$����
����	 
-  ���ก��2$�9��9A�9�������	+%�ก��&����.�+��������&$
�;�	 
- ��������.�ก��&�
+ก��2$�
A&ก�E�&�
+ก��
��.��	%�������+&����.�+��=
+*��ก+�� 
-  
���*��ก+��/:+ก��&�
+ก��
A��.�;�	2$�ก��2ก!�=
A��.�;�	
	��+��������
 
-  ���.�)+9E�ก���ก��9���&$
�;�	
����
����	2$����+2��$!
������!����*����E�ก�����2-�-����.�ก�� 

2$�.��.��&������-$ 
(3)  �!��ก��
�A��ก�����*	�ก� 

������, %�!9������9�D.�
ก��%�!���*	�ก�
	��+��&�����B�;�* ��	��!ก�����	A�B5��.��ก�����ก��
���*	�ก�.��$����� ��+��) 
(ก) �!��ก��
�A��ก��*$�++�� 

-  %�!ก3�1���;�*��ก�����������)�����	��2���)������.� 
-  $�ก��%�!*$�++���tt���!�	ก��%�!
A&ก�E������&�����B�;�*�0+2$�
A&ก�E�&���	���tt�� 
-  ������ Energy Audit �*(�
ก�����������ก��ก��%�!�tt��%�!��&�����B�;�*�0+�A� 
-  
���*��ก+��%�!�=!�%�2$�.�����ก/:+9������-���
�.�
ก��&���	��*$�++���Aก&���;�%�

��++�� 
(=) �!�����*	�ก��)��2$�ก���������)�����	 

-  .����
������������)�����2$�
A&ก�E�%�������
��+.��ก����� �*(�
&�
+ก��ก���0D���	=
+�)��
��กก��������$��(
����A�=
+
A&ก�E� 

-  ����)����ก�����������)�����	ก$����%�!%�ก�����ก��-$�.�
���
$ 
-  .����
�9AE;�*�)��
	��+��������
�*(�
���%�!�ก��-$ก����.�
9AE;�*=
+�
���
$���-$�.��! 
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-  �������	�)�����	���������2$!��0�;�	�
ก��++��.����.�ก�� Zero Discharge 
-  ��+�����ก��%�!�)���!��
A&�;92$�����;9
	��+&���	�� 

(9) �!��ก�����ก���$*����+
�ก�5 
-  &���&�A+&�����B�;�*=
+����-$�.ก3�1���;�*�*(�
&�
+ก��ก������1:�=
+ก3�1���;�*
	��+

��������
 
-  .����
������-����!=
+��()
�*$�+.��ก������*(�
9��9A�9AE;�*=
+
�ก�5���&$�
	��ก&$�
+

%�!
	0�%���.�<�����ก�������	ก����++��
A.���ก��� 
-  .������9AE;�*
�ก�5�Aก 6 ��(
� 
 

(4)  �!����+9� 
������, .�����ก����� H��+9�L �&'�ก$�ก���9�D��������	��+�����-$�ก���%�!ก��ก��=
+������, 9+
	0�2$��.���.

	��+����9+ ��	�������ก��+9��$�ก� %�
+9�ก� ��!2ก� *��ก+��1:�+�&'����%����9�D��������5�ก	;�*2$�
9��������/%�ก��2=�+=���&�0���+9�������A��� 2$������&����5 ��	��ก��ก�������&'��&�����	%�ก��
�������ก��%��������+9�.��+� ��+��) 
(ก)  �����
+9�ก� 

- *�>����ก��=
+*��ก+���Aก�����2$���!�+
+9�9����0!;�	%�
+9�ก��0�ก��������9��������/ 
(Competence Management) 

- ��+�����*��ก+��%�!����������%�ก��2��+

ก/:+9���9������.�

+9�ก� 
-  ��+�����*��ก+��%�!����������%�ก��*�>���A��� 

(=)  ������A��� 
-  
�A��ก�����*	�ก�2$����+2��$!
� 
-  ��+�����2$�*�>��9AE;�*����. 
-  ��+�����ก��5:ก��2$�*�>��ก�����	��0!=
+�	����%��A��� 
-  ��+�����ก�����	��0!ก��%��%�%���>�B���9AEB���2$�B�����*(�
�&'���ก<��=
+ก��*�>��9AE;�*

����.=
+�	���� 
(9)  �����&����5 

-  ������A�ก��ก����!��ก��
�A��ก�����+2��$!
� 
-  ������A�*�>��ก�����	��0!2$�ก����!�+��.����:ก2$�9������-���
�.�
��+9�=
+�	���� 

 
�0.�
.�V
42�.ก
��V
�2
�ก
��������
�=���C� �  

������, ��9����A�+����%�ก��.�
.!��ก���A���.9
����&�����Aก�0&2�� 9E�ก���ก��������, �:+��!ก�������	��	���
�!�	ก��.�
.!��ก���A���.9
����&���� �*(�
&$0ก��.����:ก%�!ก���ก�� -0!������2$�*��ก+��=
+������, �Aก�����.�����ก/:+*��
;�	=
+ก���A���.9
����&���� ��!�+9����	����/0ก.!
+ 2$��*���9�����(�
����.�
-0!��������!���	�Aกz��	 �*(�
*�>��
+9�ก�%�!��9���
	��+	(�%���	�	�� 

������, ��=!
�!����%�!ก���ก�� -0!������ 2$�*��ก+��=
+������, �Aก����� �������ก����(
	
����ก���A���.
9
����&����%��Aก�0&2����)+��+.�+2$���+
!
� ��	9�
�9$A�/:+�AกBA�ก����)+%�&����52$�.��+&����52$��Aก����	+�����
�ก��	�=!
+ ��	���%�!��ก��.����
���(
�
����ก��&����.�.����	��	ก��.�
.!���A���.9
����&����
	��+��������
 .$
���
�����2����+&����.�2$�=!
ก�����%�ก���������ก��.��+� �*(�
%�!�
�9$!
+ก��ก���&$��	�2&$+��+BA�ก�� �����	�=!
��+9��
2$�����DD�.�=
+กG���	.��+�����ก��	�=!
+ ��	%�!&����.���+.�
�&��) 

(1) ก���ก�� -0!������2$�*��ก+��=
+������, �Aก�����.!
+&����.�.����	��	ก��.�
.!���A���.9
����&����2$�
���	����E��+BA�ก����	����=!��&�ก��	�=!
+ก����(�
+�A���.9
����&������������	��+.�+��(
��+
!
� 
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(2) *��ก+��=
+������, �Aก��������*:+$��$	��(
�*�ก��	��(�
*�����ก��ก���������=!�=��	ก���A���.9
����&�������
�ก��	�=!
+ก��������, .!
+2�!+%�!-0!��+9����D����(
�A99$������-���
����� 2$�%�!9��������(
%�ก��.����
�=!
�������+.��+� 
��ก��=!
�+��	%�!&�:ก�����(
-0!��+9����D�� ��(
�A99$���������, ก�����%�!�����!�������-���
��ก��	�ก��ก��&����.�.��
���	����E��+BA�ก��-�����
+��+.��+� ���ก�������! 

(3) ������, ��%�!9����&'�B���2$�9A!�9�
+*��ก+�����2�!+��(�
+ก���A���.9
����&��������ก��	�=!
+ก��������, ��	
%�!��.�ก��9A!�9�
+-0!�!
+���	� ��(
-0!���%�!9��������(
%�ก����	+��ก���A���.9
����&����.�����������, ก�������!%�=!
ก�����
2$�2����+&����.�%�ก��2�!+����2���(
=!
�!
+���	�=
+-0!��������!���	 

(4) -0!���ก������A���.9
����&�����&'�ก��ก�����-�����	����E��+BA�ก��1:�+��.!
+��!���ก��*����E������+����	
.�������	����������, ก�������! �
ก��ก��) 
������!������.��กG���	��กก��ก�������)�-��กG���	 

(5) ������, .�����ก/:+9������9�D%�ก���-	2*��%�!9����0! 2$����9����=!�%�ก���A99$
(�����.!
+&����.���!���� 
�ก��	�=!
+ก��������, %���(�
+���.!
+&����.�%�!�&'��&.����	��	����!�	ก��.�
.!���A���.9
����&���� 

 
�*(�
%�!������, �����/�������ก��.����	��	����!�	ก��.�
.!��ก���A���.9
����&���� ������, ��!��2����+

�������ก��.��+� ��	��A&��!��+��) 
(1) ก�������	��	ก��.�
.!���A���.9
����&����%�!9�
�9$A��&/:+ก�����ก��������+���A99$.�)+2.�ก�������

��(
ก��9���$(
ก�A9$�ก� ก���$(�
�.��2���+ ก��z�ก
��� ก��&������-$ก��&����.�+��*��ก+�� 2$�ก��%�!-$.
�2�� ��	
ก�����%�!-0!��+9����D���Aก������(�
������9����=!�%�ก��*��ก+���*(�
%�!%�ก��ก�����+BA�ก�����
	0�%�9������-���
�2$�
9��9A��02$ก��&����.�%�!�&'��&
	��+��&�����B�;�*&�����B�-$�!�	 

(2) ก���������ก��%���(�
+�����9�������	+�0+ก��ก���A���.9
����&���� ก���ก�� -0!������2$�*��ก+��=
+������, 
�Aก9��Aก�������.!
+&����.��!�	9������������+��	��*��%���(�
+��+.�
�&��) 

(2.1) ������
%�!9��.
�2�� ���	����� ���	ก�!
+ .ก$+��(
����������ก�A99$
(�� ��(
����	+��
(�� %��Aก
�0&2�� ���������&'�ก���������ก����	��+.�+��(
��+
!
��*(�
%�!��ก��.
�2��ก��&����.�����
()

&���	���.�
ก�� ��(
���+-$&���	����ก��	�ก��+��=
+������, 

(2.2) ก�������(
%�!�+�������9��(
�+��������A�.!
+�&'��&
	��+�&��+%�2$�/0ก.!
+.��กG���	 ��	.!
+
����%�����+�������9��(
�+��������A������!/0ก����&%�!�*(�
�&'�=!

!�+%�ก��.������� 

(2.3) �!�������(
%�!�����%�ก���������BA�ก���Aก���� ก���������+��=
+������, ก��.��.�
+��ก��;�9��<
��.!
+�&'��&
	��+�&��+%� 1(�
��.	��A���. 2$�.!
+�������ก��%�!�&'��&.�����กG���	ก�������	
�9��+9��� 


